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Find each product.

1) =33x2+x+1)
A) —9x* - 3x-3
B) —x° —4x? —2x
C) 12x° —36x% +42x
D) 48x* —40x + 40

3) 5(-8x> + 7x + 5)
A) —28x° — 7x* + 49x
B) 18x% +21x +24
C) 4x° —8x* +x°
D) —40x? + 35x + 25

5) 7()62 +x - 7)
A) 7x* +7x —49
B) 35x° — 7x* — 42x
C) —14x* + 14x° — 35x7
D) —7x* —7x + 42

7) —a(a® — 8a - 6)
A) 48a* —12a-42
B) —a’ + 84* + 6a
C) 12a° —36a* - 484°
D) —7a* —42a+ 35

9) 4(—4x? + 5x+3)
A) 32x% +48x — 48
B) —16x +20x + 12
C) 3x* +5x° + 4x?
D) 35x% + 10x — 20

Factor the common factor out of each expression.

11) 36n° — 60n* + 120n
A) 12n(3n* = 5n + 10)
B) 24(n* — 51+ 10)

C) 12n%(9n2 = 151 + 30)
D) n(36n> — 60n + 120)

2) —3(—6k> — 8k +8)
A) =3k +21k* + 15k
B) 14k° —2k* + 10k
C) 18k* + 24k — 24
D) —30k + 30k* + 12k

4) —(-n* - n+3)
A) —n* +8n+3
B) 10n* + 12n+2
C) —6n* +12n+2
D) n*+n-3

6) —5(5x% + 4x — 8)
A) —4x* +4x° + 6x?
B) —25x% — 20x + 40
C) 5x*-5x-15
D) —42x” + 12x + 48

8) 3(5n> +2n+1)
A) 48n* +56n+ 16
B) 151 + 61+ 3
C) —8n* —8n’ + 14n°
D) 32n* +28n+24

10) 8(8x% —3x+4)
A) —21x* = 21x+49
B) —40x” — 64x — 24
C) —10x° — 12x? — 14x
D) 64x* —24x + 32

12) =52p* + 117p + 130
A) 13(=52p + 117p + 130)
B) 2(—4p® +9p + 10)
C) 13p(-4p*+9p + 10)
D) 13(-4p> +9p + 10)
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13) 18x® —28x% + 8x
A) 8x(18x> — 28x% + 8x)
B) 2x(18x* — 28x + 8)
C) 2x(9x% — 14x + 4)
D) 2(9x* — 14x? + 4x)

15) 24b° +28b* +2
A) b(24b° +28b +2)
B) b(126° + 14b° + 1)
C) 2(b* +7p+1)

D) 2(126° + 146 + 1)

17) —=70n* +28n — 14
A) 14n(=70n> + 28n — 14)
B) 14(-35n> + 14n-17)
C) 14(=57%+2n-1)
D) 14n(-5n% +2n—1)

19) —12n* + 6n° + 14n*

A) 2n%(=6+3n + 7n?)
B) 2n2(—6n +3n% + 7n3)
C) 2n’(=6n +3n% + 7n’)
D) 2n*(=12n + 6n° + 14n°)

© 2016 K uta So ftw are LL C.

A1l rights reservé'z',

14) 7x° + 14x* + 14x°

A) 28x(x +2 +2x°)
B) 7x*(x+2+2x%)
@) 7)c3(x2 +2+ 2x3)
D) 7x%(x + 1 +2x°)

16) 8x” —56x* +32x°
A) 16x°(4x° — 28x° + 16x)
B) 8)63()64 - Tx+ 4)
0] 8)63(x3 - Tx+ 12)
D) 4x°(x* = 7x + 4)

18) 49r° — 28+* + 287
A) 7r2(7r3 — 477 + 4)
B) 72(-28r* + 49,3 + 287
C) 77 = 4r? + 4)

D) 777" - 4 + 8r)

20) 16n* —56n — 104
A) 8(2n = 70* - 13)
B) 32(2n%* = 7n - 13)
C) 8n(2n* = 7n-13)
D) 8(2n%> - 7n-13)
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